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Accelnius = Acio— solutes Hhad produces hydrogen 1005, HY,
N ogueous solwfions
Base > Produce hydroxide (ons, OH e, wih e
dissolved in water

8(’95/\5%@&- Lou)m, ’,
Acio = PfOJror\ donor
ase 7 protfon acceptor

ocid of fud reackion — HCN
bose of {wo veaction — HsO
Conyugode acid-bose panrs - KON ONT ) Hgo: H,O7

N 0.1 mol/t HCL ™ pH = -lo [HT]
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ka = [H Zag;\, ((s H’\Oq\mg)\&
[HCQ Hsc\a[aiﬂ

[Hiag) = [CaHsOs wapd = 1235 x/0° mol /L

ko= (1.36 v 10Y
G. 160

21,8335 x/0°°

s Hhe Ky of acetic acd is 1.8384 ¥ /077
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(i) NG5 + 2n T NH, - ZﬂCOH)q’—Q (bousic.)
GoH™ + AH" + NOy NH, * EHQQ +9QOH "
bR+ O, Ny r 3Hye T 0R

4OH™ + 4H,0 1 2n — Zn(OHBJ VYT qoH T
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LU0 MC)B F0H F HZn 2 Yzn(OH)y T Ny

@) e odiffecence between Hrer tendercy to be veduced ano
He terdency o€ hydroogn ‘o be reduced

@7@ Ca?rac 2lu € o
Zn'? r 3eT T 2A Fe= -0.76

Copper has & greofvv terdercy fo be recduced so He en is:

Cu”+2n —> (o ZJ’\T?x

Cut? v e = Cu F°= +0.3 4
+ 2 -

2.1 T 2N * e €C=+0.76

0P zn = (u v2n? Fo= *LIOV

v Pre vologg of dne cellis LIOV
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